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Note: You have four choices for each objective type question as A, B, C and D. The choice _Jn/‘:;d’);;.:. Ul
which you think is correct, fill that bubble in front of that question number. On bubble sheet, use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay
(1) For the reaction, -.c;-:-ﬂ:ﬁ/-.-{l—’«pﬂ{/?{ﬁif' LLAK) 24, + B m=23C,, (1)
24, + B ,===23C, the expression for the equilibrium constant is:-
2 C]3
p) [24]11B] g) [41°[B] o) _[3C] ) A<l _
¥ [3C] & [(c1* () [24][B] O a5
(2) Inanirreversible reaction dynamic equilibrium:- -(/:f 1L tfiiutu"gld;&‘}gu! 2)

(A) Never establishes t‘xu‘“{ Fo‘{ (B) Establishes before the completion of reaction :;.L”@ﬁﬁ G‘E?c.. Lm}‘[fg I
(C) Establishes after the completion of reaction g_tanﬁLLxJ@:g 6 (D) Establishes readily <t Gires

(3) ____acidis found in Sour Milk. -;.Hg%ﬂl ___u-fw»i.ﬁz; 3)
(A) Citric S (B) Formic iz (C) Lactic ¥ (D) Uric S

(4) Dilute acids react with Carbonates to gl iyl RS AL Fkiinh @)

produce the given products except:-

(A) Salt (B) Water d& (C) Carbondioxide I'l/!'gjfiwb’ (D) Hydrogen (/.

(5) Main component of Natural Gas is:- -@.;z(ﬂw{ Ju:' (5)
(A) Methane f (B) Propane df:/,_. (C) Butane L)fr (D) Propene s

(6) ____is a saturated Hydrocarbon. - by 1 £ < ybuihg __ (6)
(A) C,H, (B) c,H, C) ¢,H, (O) CH,

(7). About 50 % of the dry weight of cell is made up of:- e banbud 50 KL FBLF 1)
(A) Carbohydrates .:-.,JE;,WJK (B) Lipids «—j¥  (C)Proteins < 75{ (D) Vitamins < s

(8) Photosynthesis process produces:- -?Q:Ji G5 @)
(A) Starch &.b (B) Cellulose st (C) Sucrose Y (D) Glucose A

(9) ___isasecondary pollutant. = et ()
(A) o, (8) co, (€) cH, (D) HCe

(10) At4°C the maximum density of water is: < FEmpientifdiy 4 (10)
(A) 1gem™ (B) 2gem’” () 3gem” (D) 4gem™

(1) Temporary hardness of water can be removed by adding;- -cg.ttgwlm&g_iii_f f’}/&bw;/;;(f dL (11)
(A) Limestone  A¥L7  (B) Slaked lime tzlxlf  (C) Quick lime (2l (D) Washing soda 13 bl

(12) Boiling range of Gasoline or Petrol is:- -;.f:};ﬂ'f:jdajj;gc}-‘-’rf (12)

(A) 80 to 170°C (C) 170 to 250°C (C) 250 to 350°C (D) 350 to 400°C
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CHEMISTRY (NEW SCHEME) GROUP-1  ( 2015-2017 %) by - o/ (F 2) g€

TIME ALLOWED: 1.45 Hours SUBJECTIVE _» a5 = o,
MAXIMUM MARKS: 48 48 = JF

NOTE: - Write same question number -cg.&z:d;.{,glrﬁé b;:/-,%?.'»lf,)dlr(ﬁ;{@b’;}b? oy
and its part number on answer book, as given in the question paper.

SECTION-l Js..o

2. Attempt any five parts. 10=2x5 el 3 2
(i) Whatis the difference between Reactants and Products? St ‘.'q_u")l{u.‘.’;,r:’:*;{ A, (i)
Give example.
(i) Define Chemical Equilibrium State. ~E e SEASEIES i
(i) What represents the large value of KC for a reaction? e J&-w’&.&f‘ f{!x,?m_bd zJ Ke JJ"‘: ld;J" iii)
(iv)  Write two characteristics of irreversible reactions. % qfacal:&r‘%)i_( /:E ld;d&‘igul (iv)
(v)  State Arrhenius concept of Acids and Basis. Y o /*'—"b’ AT (v)
(vi) Define Neutralization. ..ré..éj/‘"'dlcﬂﬁ}.é (vi)
(vi) Name two Acids used in the man ufacturing of Fertilizers. -q‘i’?’t&;klu)_bLndewdzp&uﬂE) (vii)
(vii) Define pH. What is the pH of pure water? el PHEGWA -/ pH (il
3. Attempt any five parts. 10=2x5 Efe el 8 3y
(i) Define Heterocyclic Compounds with one example. -é/g_;dt‘a_ﬁ._y/?&‘ﬁf I{.ﬂ.ﬂaﬁ (i)
(i) Write two uses of Organic Compounds, -»éﬁ/}aﬂ&b)éii?l{u@:f (ii)
(iii)  Define Functional Group with one example. -géfg:dﬂ_ﬁ_éﬁgvsfd”? (iii)
(iv)  Give two uses of Methane and Ethane. ,455{:, U1y L-,:"""L IV u:‘;:‘ (iv)
(v) Differentiate between Saturated and Unsaturated Hydrocarbons. SIS FI01 5 s sl dog (V)
() Wit the difference between Ghiee and ol S wi
(vii) Are the Plants Source of Oils? Explain. ,éyu, ?ugwyb’)y‘l?_:gt_f (vii)
(viil) Write formulae of Stearic Acid-and Palmitic Acid. kb LA, (il
4. Attempt any five parts. 10=2x5 “Efe e lizbhe 8 a0y
()  How Ozone Layer is formed in Stratosphere? fe G Al Ay )
(i) How CO, is responsible for heating up atmosphere? ‘.‘q.,{}i'c:.'/ygfé_fr)jfﬁ":}i CO, (i)
lii) How is Acid Rain formed? Se-GFULAS L i)
iv)  What is Capillary Action? ?.;_my’uif U/&"’l (iv)
¥) How addition of Na,CO removes ‘edrmd Uan§de LIS Naco, ()
permanent hardness of Water?
vi) - Write the names of raw materials needed for manufacturing Urea. _g{{/}téiﬁ b Jlsﬁ;g.éi.hlnug (vi)
vii) What is meant by Anode Mud? Sl e (Mud) £ 350 (vii)
viii) How is CO, prepared in the Solvay's Process? ?f_gl?djg';‘( CO, u.fd'?.;r._:‘t/ (viii)
SECTION-II (224
IOTE: - Attempt any two questions. -é;f’ayzéa.mma.éf Oy

{A) State the Law of Mass Action. 5 S tureibeg, b /L 24K Sk WSS RGNS ATy (.5

How Chemical Equilibrium Constant is helpful in prediction of extent of reaction?

(B) Write the uses of any four Acids. 4 -éf;fc. UWFLJMIJJ;@JI (&)
(A)  Write down five physical properties of Alkenes. 5 ..ﬁq.-.gn*"'dfb éw/ (Alkenes) ﬁﬁl (.6
(B) Write down four uses of Carbohydrates. 4 _quaUszgéu%;i’Qm’ (o)
(A) Define Urea. Describe three stages of its manufacturing. 5 _._é gg(,f"lfofﬁd:y JJ!»Lq{ e by (D7
(B) Define Hard Water and aslo write its three disadvantages. 4 _"q‘:r{fptl.a‘éfuféumig{ ..g‘j}&b:";{, (&)
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SSC PART-I (10th CLASS)

NUMBER: 3482

CHEMISTRY (NEW SCHEME) GROUP-I  ( 20162017 o) 2 - A F Il
TIME ALLOWED: 15 Minutes OBJECTIVE (%/%e w15 = &
 MAXIMUM MARKS: 12 12= AF
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Note: You have four choices for each objective type question as A, B,CandD. -ufz‘:’rd' }facb vy g4

' The choice which you think is correct, fill that circle in front of that question number. Use marker or pen

to fill the circles. Cutting or filling two or more circles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 . A Ay

(1) Guldberg and Waage put forward Law of Mass Action in:- -g’&ﬂuuﬁui_.f: Sk (1
(A) U~ s 1859 (B) U~ 1869 (C) o~ » 1879 (D) J- » 1889

(2) In the Lime Kiln, the reaction goes to completion due to:- -q.-.-?ﬁfd‘-m); c‘:‘fg i$ae Flz (2)

(A) Of high temperature =/AZosk  (B) CaO is more stable than CaCOg tw e CaCOy ¥ Cal

(C) CO, escapes continuously tx%.b ¥ COy (D) CaO is not dissociated (*4:¥ Cal

(3) _____is used for flavouring food. -,:_t'tglﬁ)b?téﬁi_b;ﬁ USSP 3)
(A) Acetic Acid i1 (B) Benzoic Acid A2Ilr/z
(C) Hydrochloric Acid 22105 (D) Nitric Acid 227t

(4) If a liquid has a pH of 7 then it must:- K dnpH=T7 Jéb/"f @)
(A) Be a colouriess and odourless Ao s (B) Be neutral J/%

(C) Be a solution containing water -._-,’PJ‘:";&Q (D) Freeze at 0°C and boil at 100°C fe/Sisy 100°C iz/¢ 0°C

(5) Coal having 90 % Carbon contents is called:- -q..blkf Wt 20 sKa 90 SIS (%)
(A) Peat <« (B) Lignite &‘l;ff (C) Anthracite <A /3"1 (D) Bituminous u‘-‘if

(6) The reduction of Alkyt Halides takes place in etz et iediee @

 thepresenceof-  (A)ZWMCI  (B) Na/HCI  (C) Mg/HC! (D) Cu/HCl

(7) ____catalystis used for the Hydrogenation of Vegetable Oil.  -¢ e el uﬁw’-""’:zi'l,&f Uﬁ; 0
(A) Al (B) Cu (C) Ni (D) Pb

(8) ____isa Disaccharide. PRt @)
(A) Glucose ¥ (B) Fructose 57 (C) Sucrose i+~ (D) Starch &/

(9) Just above the Earth's Surface is:- _.;.,51,4”‘_)9@&5&;:; (9
(A) Mesosphere #+* (B) Stratosphere %% (C) Thermosphere #v# (D) Troposphere JEys/

(10) The quantity of water fit for drinking on earth is:- _;.JFZ.&_;'JIJ*J (3&{035 (10)
(A) 02 % (B) 0.4 % (C)0.6 % (D) 0.8 %

(11) Temporary Hardness of Water is because of:- -4.3.««:-4’J A ud'b#d{/;; it Gl; (11)
(A) Ca(HCO,), (B) CaCOy (C) MgCOy4 (D) MgSO,

(12) . Matte is a mixture of:- -fr-/f: & (12)
(A) FeS and CuS (B) Cuy0 and FeO (C) Cuzs and FeS (D) Cu$ and FeO
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TIME ALLOWED: 1.45 Hours

SUBJECTIVE 1.2

M 145 =

MAXIMUM MARKS: 48

NOTE: - Write same question number

2. Attempt any five parts.

@

48 =

Lk g..{él:’.fﬁ g}{ E-/JJ/,;." s I/-:;Jlr(ﬁ;{é b’dfﬁ

and its part number on answer book, as given in the question paper.
SECTION- ste

Define Active Mass and give its units.

(i) What is meant by Dynamic Equilibrium State?

(iii)  In which direction reaction will proceeds if QC < Kg?
(iv)  When Equilibrium Constant has no units?

(v) Write the names of two Mineral Acids.

(vi) Write two uses of Calcium Hydroxide.

(vii) How are the Salts named?

(viii) Define Double Salts and give an example.

3. Attempt any five parts.

0
(if)
(iii)

(iv)
v)
(vi)
(vii)
(viii)

4. Attempt any five parts.

()
(if)
(iii)
(iv)
v)
(vi)
(vii)
(viii)

Define Heterocyclic Compounds.

What is Coal Gas? Give one use of Coal Gas.
What are two basic conditions for an element to
exhibit catenation?

Write two physical properties of Alkynes.

Define Substitution Reaction.

Define Amino Acids and write their general formula.
Write two characteristics of Monosaccharides.
Differentiate between Essential Amino Acids and

Non-essential Amino Acids.

What is Troposphere? Give its two characteristics.
Define Poliutants.

What is Global Warming?

Describe two disadvantages of Detergents.

What is Leaching Process?

What are Ores?

Write two uses of Fuel Oil.

Define Gangue.
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SECTION-II (134>

NOTE: - Attempt any two questions.

5.(A)

(8)

Write down five macroscopic characteristics of
Dynamic Equilibrium.

Explain the Lewis concept of Acids and Bases.
Write any five sources of Alkanes.

Write any four uses of Enzymes on commercial level,

i
(vii)
(viii)

_é“/;:/[.fﬁﬁa U!n:c;.tj/ L
5 -é{;@?ﬂb{ﬁkék({ﬁ/d}gjb(g;; @

4 -cffw?b:&'}gﬁg&f'ﬂbﬁf (u)/
5 - fmr GVBIL (Akanes) A0 (L6
4 -G fe e Syl e OL A (L)

How Urea is manufactured? Explain with flow sheet diagram. 5 -é@rujarf/?liﬁﬁ ‘.‘ﬁ.:.t‘tgl_rﬂ_lgz,/"’;f'l;;_’ (N7

Explain following diseases:-

Typhoid X' (iv) Jaundice w6, (iii)

4 ol set o
Hepatitis s (i)
24-2018(A)-35000 (MULTAN)
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